PROBLEMAS DE TRIGONOMETRIA

Problema 192:

Reducir la siguiente expresion a otra, en la que no figure mas que tg d y tg v:
sen (§ +v) -sen (8 —y) - sec?§ - sec?y

Solucion Problema 192:

sen (8§ +7v) -sen (8 —y) - sec?8 - sec?y = (sen 8- cosy + cos & - seny) - (sen 8 - cosy — cos § - seny) - sec?8 - sec?y
= (sen? & - cos?y — cos? § - sen?y) - sec?S - sec’y = sen? § - cos?y - sec?§ - sec?y — cos? § - sen?y - sec?8 - sec?y =

1 1 1 1 sen?8 sen?
—c0s? & -sen?y- = Y _

= sen® 8- cos?y - tg® 8§ —tg*y

cos* 8§ cos?y cos? & cos?y cos?8 cos?y
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